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$BF 50m HHEF 5F 100m BHHRE
rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§

1[9%F Tt BEHLKRF K3 | 0.64 22.52| BgAE |22| 4 1|5 & V=P K3 | 0.76 49.15| BEE |31 5
2|HR 1= FIERAK K3 | ----- 22.54| & |15 3 2|10 shz  |EEKZF X2 | 0.63 49.23| HE#@ (21| 5
3= RIE | BREX X2 | 0.66 22.67| B=® |36| 7 3| ME ERK X1 | 0.64 49.40| BE |30 2
3|HIME—E  |RFEEK X3 | 071 22.67| B=® |36| 4 4|48 f2h HLIZFER X3 | 0.66 49.41| BE=E |29] 1
50O shz  [EHXRF X2 | 0.56 22,71 BA |22| 5 5= &N |PRX X2 | 0.70 49.42| BE |30 4
6|l 3 UDZRER | K3 | 0.55 22,81 BEA |22| 3 6|8 = =N X3 | 0.75 49.53| M= |31] 7
6|8 8% [FEEK X2 | 0.75 22.81| B [36] 6 7|l BA¥E [ITESSL 7N K3 | 0.72 49.62| BEE |31| 6
8|%&E W& |IEXREX X2 | 0.70 22.89| PB=E 36| 1 8|IRHZELER [PK X3 | 0.73 49.64| H=E |31 4
9|FE BA [EEKXF A3 | 0.61 22.92| BgA |22| 7 o|E:F B [hRXK K2 | 0.72 49.65| = |30| 7
10|FAK #z2 [FBRX X3 | 0.70 22,93 B= [35] 6 10(RE &th BEAX X3 | 0.82 49.76| = |26| 8
11(f@FeEF | ILRFBRA X3 | 0.80 22.96| MB=E |36] 2 1R X |EZEK X1 | 0.66 49.81| BE |31 2
12(KE&;x ZE  |TFRK X1 | 0.72 23.05( PBd= (34| 8 1185F mMsk |FURK X2 | 0.69 49.81| ME |28 5
13[EH KM K R2 | ----- 23.06( &P [15( 2 1388 =& EES1IPN X2 | 0.70 49.94| BEE |30| 8
1BHLE BE |BWREEAKX X3 | 0.69 23.06| PBd= (32| 5 14|88 B FRsRK X1 | 0.67 50.03( PBd® (29| 2
15|88 = REKRF A3 0.80 23.07| BgAEm |22| 8 15|44 B [IRREX X1 0.74 50.11 PBdE (29| 6
15(FRE K&  |iIGEERF X2 | 0.73 23.07| B@A |20| 5 16|E@E & SRR X4 | 0.75 50.16( PBd® (31| 1
17|18 B  [ERX X1 | 0.63 23.10| M= |35| 7 16(F4H E2fE  |BIRFBRAF | K1 | 0.62 50.16| @@ |21| 4
18(&)l BE | XKEXF X3 | 0.67 23.11 BEA |22] 1 18|&W &l VE =" X2 | 071 50.18| PBd= |27| 6
19(5%8F MY K X2 | 0.82 23.13| B=R |34| 7 19l Rz | KIRGBEXRF | K2| 0.71 50.23| @@ |20| 2
20|fBE &k FRSRK X1 | 0.69 23.14| PBd= |35] 1 20|18 #¥K |BFEK X2 | 0.67 50.24( PB4 (27| 8
21|1A)ll & [IBREX X3 | 0.68 23.15| PB9= (36| 5 21|H#E A [fERXK X2 | 0.68 50.33| JuM |15 3
22|11/ BX | REXF X3 | 0.66 23.16| BE@A |21| 3 22|mHETR |FIRK X2 | 0.72 50.34| PB4= |28| 4
23|56 i AKX X2 | 0.65 23.17( JuM [19] 6 23|1EmE B |TIRK K3 | 0.72 50.38| B [25| 4
24| #HE A |BEX K2 | 0.62 23.23| JuMl |19] 4 23|1Alll & |[IEREX X3 | 0.68 50.38( PB4® (31| 3
25| IBA [fERK X1 | 0.64 23.24(  JuM 19| 3 25|E% BA  |REFEK X1 | 0.68 50.44 PBd® (25| 8
25|81l B | KBRAEBXRE | K1 | 0.64 23.24| BEA |22| 2 26|#H K [EHEKRF K2 | 0.64 50.48| @ |21| 6
25|14 BoE BEHLKRF X2 | 0.75 23.24| BgA |22| 6 27| 5% N5 K K2 | ----- 50.53| & [12| 1
25|KTF &1 |EEK X3 | 0.76 23.24| M= 33| 1 28|wiE HE HLZFBER X1 | 0.69 50.54( PB4 (26| 2
29| BE BE HAGEXR K3 | 0.65 23.28| M=® |35 5 29|3k%F SR X2 | 0.82 50.58| B (27| 4
0|8A M XEK X1| 0.74 23.29| B= (33| 7 30(BER ERAK K X3 | 071 50.60( PB4% (24| 3
31#8E  E A A3 | ----- 23.31| &P | 15| 4 31|14 2oE BEHLARF X2 | 0.68 50.62| @@ |21 3
3L = RIER X3 | 0.70 23.31| PBd= [29| 8 31| LB RK ZN=PN X1| 071 50.62( PB4® (20| 3
33|18H A% FfEEE X2 | 0.66 23.33| M (19| 3 33| HEE—  |EREAKEKX X1 | 0.68 50.64| JuM |15 7
34|42%F oA |[fBRXK X1 | 0.61 23.35| JuM |19| 8 33|%F0 B BAX X3 | 0.72 50.64| PBd® (25| 6
35|40 BAX  [#RIX X1 0.72 23.38| Bg=® |33| 4 35508 IF  |[fERK X2 | 0.70 50.67| JuM |15| 4
35| WA |BEFERAFE | A3 | 0.65 23.38| HEA |21] 4 36|H)IIE—EF  |RfEAX X3 | 0.73 50.71| PB4% (30| 3
37| K HE FRRK A1| ----- 23.39| &P |15( 1 36|%E X&H |(IBREX X2 | 0.70 50.71| PBEE [26| 4
38|famE M5 |FURK X3 | 0.70 2341 B= (32| 4 38|IRHE EfE  [FIKK X3 | 0.69 50.76( PB4 (27| 1
39| & BRXF X2 | 0.59 23.43| &M (19| 4 39ImIVAU7 L [BARK X1 0.78 50.79( B (29| 3
40|8% A [REFEX X1 | 0.69 23.44| PB=E [33] 2 39| Bk BE FRRK X1 | 0.72 50.79( PB4® (30| 1
40(iRH EiE  |FIKK X3 | 0.71 23.44| PB= |35 3 39| BAX [EEK K2 | 0.82 50.79( PBg® |26 1
42 (Ll 427 HERK K3 | ----- 23.45| & |15 5 42|ILAK IKIE |FOEKR X3 | 0.66 50.80( PBd® (24| 2
43|25 & EILKRF X2 | 0.80 23.47( wHmM (19| 5 43|16% B8 BHAGEX K3 | 0.65 50.82( PBg® [25| 2
44|F)IRER  |ILBEREKX | K3 | ----- 23.48| JtEB 6| 3 44|FAK HE  [EBKX X1 | 0.72 50.83| PBd= | 24| 4
45|FEFREARA  |ELEEX X1 | 0.63 23.49| MR 32| 7 45880 A |[FHRIIK X1 | 0.75 50.85( PBE® (27| 7
46| BE HLZFER X1 | 0.67 23.50| B9=® 34| 2 45|R BE HLZFBER X1 | 0.68 50.85( PB4® (28| 3
47 |\@EFEFTR  |FIKRA X2 | 0.74 23.51| B=® |34| 4 47|HIR BREk  |[tREEMEX K2 | 0.72 50.89( PBg®m |[25( 1
47 |HTFHERER  |SEEK K3 | 0.67 23.51| PBd= [35] 2 488 RE  |EEK X2 | 0.74 50.91 PB4% (28| 2
49|l 18 HRA X2 | 0.67 23.52| PB9= (36| 8 49 [HFHKREE  |EEK A3 | 0.66 50.97( PBd® (30| 6
50|40 38 =N X1 | 0.70 23.53| PBd= [30| 1 S50|EM B KIRMIZARE | K1 | 0.61 50.99| @fm |20 3
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8% 200m BHRE 5BF 400m HHEM
rank K FhlE@&fn | F#s| RT J-) | K&D-R| #8 | KE&| [rank K FhlE&fn | F#s| RT T | K&D-R| 48 | K
1#r BE  |s=mEk x3 | 0.70] 1:47.06] mam [22] 3 e B |#EX x4 ] 0.72] 3:47.27] ®@= [6] 5
2008 IR |BAK X2 | 0.73| 1:47.00| mE= |22] 2 20kH Em |AEAZ X3 | 0.62| 3:47.72| A 4
3|&F BEiE gk X2 | 0.71| 1:47.27| Bg=E (21| 4 3 &2 SRR X2 | 0.79| 3:48.47| PBE=R 11| 1
al@I B |EBok X2 | 0.68| 1:47.209| m= |21] 6 ALk 158 |BUEA X3 | 0.69| 3:48.51| ma= |12] 3
4|17 Btk SEREEX K1| 0.78| 1:47.29| PB&E |22| 6 5[&# tEK BAX K2 | 0.75| 3:49.15| B (12| 8
6|IA 2k [sIEK K1| 069 1:47.34| m= |21] 1 5|2k W& [ILEBRA | A1 0.75| 3:49.15| Bd= |10 8
7|l B IESES 7N A3 | 0.71| 1:47.45| PBdE |22| 5 7| K BAX K2 | 0.74| 3:49.33| PBd= 11 3
8|48 fieth  |LEFA | A3 0.69| 1:47.70| BgE [21] 8 8|4t BE  |EEX X2 | 069 3:49.34| ma= |11] 4
9|t ¥R BAX K2 | 0.70| 1:47.72| PBdE |22| 8 9|tk R BEAEX A3 | 0.77| 3:49.51| JuM 5
10|ZMmBEZN  [IEREA A3 | 071 1:47.74| m= |20| 4 10| % |[ER4BA | A2 0.66| 3:49.90] M 6
11(3RH B2A SEREEX K4 | 0.71| 1:48.02| PRI |22| 4 11 (A S¥h BAX A2 | 0.70| 3:51.51| PBd= 12 6
12|5@ A— |dEA K3 | - 1:48.30| & |5 4 127 RF |BAK K1 0.75| 3:51.66| m@= |11] 7
13|FAR —1F BIFX K2 | 0.68| 1:48.46| PBI= 19( 4 13(# BEZN HiEX X3 | 0.71| 3:51.92| PBHER 11| 5
140 #%  |FEx X2 | 0.67| 1:48.64| Bg= |20] 2 14|48 E8  |AwsAz | A2| 0.62| 3:52.12| EE |6 3
1550 BA  |BAMEA | A1| 0.78| 1:48.65| RI= |19] 3 15|E% & Bk x4 | 0.73| 3:52.41] m=m |12] 4
16|78 BF |BAK K1| 0.75| 1:48.70| Rg= |21| 3 16|@t @ |[Ax4BEA | A3]| 0.78| 3:5264| B |9 4
17 |f@EEsn | ILELFRK X3 | 0.79| 1:48.74| PBE=R 14| 7 17|55 M SRR A3 | 0.73| 3:52.80| PBd=E 12 5
18[mh#t I |EDEA x2| 0.69| 1:48.75| Rg=m |22| 7 18|/8M wE (@K X3 | 0.64| 3:52.97| mA= 7
19(/MME #E BIFX AR3| 0.73| 1:48.84| PBdE |20| 6 198 AE BEAEX X3 | 0.65| 3:52.99| Fuml 4
20(ful Bz |AMREEAR | X2 | 0.73| 1:48.87| M@ |13] 5 20(2m 9k |LEZBEA | A3 | 0.74] 3:53.11| ME |12] 7
21 |5 NE FRK K2 | ----- 1:49.04| & 2 21|12 Tt BAGKE X X4 | 0.75| 3:54.15| PRI 12| 2
21/ S BEEHE X K3 | 0.72| 1:49.04( JuM 5 22 |iFfE fE FUEKR AR3| 0.69| 3:54.31| PBIE 9| 3
23|HAR TK TR K1| 0.67| 1:49.11| BgFw [14| 3 23|%fh KiE BAGKE X K3 | 0.74| 3:54.33| PBgE (11| 8
24|51 & (BEKA X3 | 0.74| 1:49.17| m@= |18] 7 24|BEH BA UK K1| 0.77| 3:54.46| ®M= |10] 3
25|, B2 Bk x2 | 0.78| 1:49.22| pa= |18| 4 25|l fgE  |FEk X1| 071 3:54.66| mA= |9 2
2658 ot |ERabk® | k3| 0.72| 1:49.37| m@@E [14] 2 26|=M B ARk K1 | 0.72| 3:54.68] m= |10| 4
27 | BBk BESR gk K1| 0.74| 1:49.43| PBI&E (18| 3 27|18 Rt TR K3 | 0.69| 3:54.73| PBIF 6| 5
28|27 A |IERZA X2 | 0.70| 1:49.65| md= |20] 8 28|HmA 8 |EEA X2 | 0.70| 3:54.74| m= |11] 6
29|k2K A& IESES 7N K1| 0.74| 1:49.69| PBd= 17 3 29|/NE I2&E gk K2 | 0.77| 3:54.82| PBd= 12| 1
30|BM mA  |BAK X2 | 0.74| 1:49.83| ®M= |20] 1 3003 MEE MRSk K1 0.75| 3:55.02| m@= | 8] s
314K BN |IBEEA x1| 0.73| 1:49.88| R= [19] 5 318 =N |ARHEAY | A3 | 0.66| 3:55.08| BFE | 6| 7
32|%HE mA WAL K1 | 0.73| 1:49.96| mME |15 1 32|87 B |EREA X2 | 0.70| 3:55.49| mMm |9 1
3B|BN RE |EEAS x3| 0.61| 1:49.97| ma7E |14| 4 BE &HE  |AFk x2| 0.79| 3:55.53| ma= [10| 1
34| BA  [EBA A3 | 0.68| 1:50.08| md= |20] s 34|M A |LESBEA | k1| 0.76) 3:55.72| ME | 8] 2
35|F0 AS  |EHAR *2 | 0.67| 1:50.16| B8 |14| s 35|&E EA  |HEX X3 | 0.76| 3:55.81| ma=m | 7| 4
35N\ i gk X2 | 0.74| 1:50.16| ®@= |20] 7 36108 BA IRk K1| 0.79| 3:56.00] = |9 5
37|MEE BA [ERk x2 | 0.84| 1:50.18| ma= |18] 5 37|@I BE &Rk x2| 0.67| 3:56.04| R= | 7| 5
38|mE E#P  |AmsA® | X2 0.67| 1:50.20| ®ME |14] 6 38|tk =B |AARKA K1| 0.74| 3:56.40 mE= |11] 2
9|HEE—B |BEAEKX A1| 0.69| 1:50.38( Ju 6| 7 39(a]fE =5 BEAEX AX1| 0.70| 3:56.73| JuM 4| 3
40l 3EE  |[AE)IK K1 0.75| 1:50.58| md= |16] 8 a0|m=B9 WA |BA#EAX | K1 079 3:56.81| M= | 8| 8
41lfREF B |ARK A2 | 0.74| 1:50.60| mE |22] 1 a0|a0 B |REAR X1| 0.64| 3:56.81| BE |4| 5
42|t E=H | FEAF K1| 0.67| 1:50.61| mEF |14| 1 2lrx B |EEL X2 | 0.75| 3:56.96| M= |6]| 4
43E AXEB  |BxK x2 | 0.76| 1:50.66| mA=m |19] 7 43|FIE # |BERK x2| 0.77| 3:56.97| ma= |10] 2
44|mH BE |EA K2 | - 1:50.72| & |[5] 5 a4l X8 |BEK X2 | 0.76| 3:57.07| ®M@= |10] 5
45|80 Eoth BAX X3 | 0.74| 1:50.74| PRI 17| 1 45 |F@fEnbl pE FRK R2 | ----- 3:57.10| H&EB 3| 4
46|BE A ek A3 | 0.75| 1:50.85| m@= |15] 5 a6l K= |EEAE K1| 0.65| 3:57.25| ®#@ | 5| 3
47|WE M |BBAk X3 | 0.76| 1:50.91| ma=m |21] 7 47|7)\JREA  |EEAS x1| 0.70| 3:57.40| mAE |6 1
48|87 8 SEEA X3 | 0.66| 1:50.92| mE= |16] 7 48[@A st |dETA K3 | - 3:57.53| s |3 2
49 /VMAE—EBR  |BREHKRE X3 | 0.67| 1:50.93| Pgf 13| 8 49|85k ME FRA R2 | ----- 3:57.57| &6 31 1
S0|gt = |AAMEA | A1 0.72| 1:50.95| MEE [19] 1 50\)im 3WR  |ARsitk® | A3 0.70| 3:57.62| ME |[5| 4
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5F 100m Hik& BF 200m HikE
rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§

1|55 & K X2 | 0.63 52.95| hEp 5 3 1)lim =& BAX K2 | 0.67| 1:56.47| FBE= 8| 6
21 ER MF  |BEX X2 | 0.70 53.70| PBd= |13| 2 2|FEF 12¥E HRK K2 | 0.62| 1:56.66 H&EB 31 3
3|FFLEAE  |HPRK X2 | 0.59 53.86| B [12| 1 IE FURK A3 | 0.68| 1:57.11 FBE= 9| 8
4|KE R (RFEEX K2 | 0.66 54.05| PBd= |13| 3 4|51 B =N X3 | 0.64| 1:57.27| B9=® 8| 3
5/ EE  |[RfMEX X1 | 0.67 54.19( B® (11| 7 5|7 K |FIRK A1 | 0.58] 1:57.28 M= 9| 2
6|2 Bt |FIKK X3 | 0.62 54.24| PB= |12 5 6|8l B [FIKK A3 | 0.61| 1:58.30| PBd=® 71 5
7ML B (RREX X1 | 0.66 54.31| B®: [11| 2 7|HREZY (BAK K1 | 0.64| 1:58.42( FB= 9| 5
8| fafAR X3 | 0.51 54.33| JuM 51 5 8|#0lE 0t7e ELEEX X1] 0.63| 1:58.48| PBd=® 7| 7
9F &5 FURK A3 | 0.69 54.55| PBER [11| 4 o|®E BE | ARABEAF | K2 | 0.56| 1:59.19| BF 41 2
10| K= #t  [IEREX X3 | 0.65 54.57| B= |11| 5 10|AlL &E— K X1] 0.61| 1:59.92| Bd=® 91 7
1|9 R V=P N X1 | 0.57 54.62( B (13| 7 11|fFE RC FRRK K3 | 0.64| 1:59.93 H&B 3|1 2
1282 Ak | KREEKRFE | K2 | 0.54 54.63| BAE 7| 8 12|/)\VWEE—BB  |RIEFEKREFE K3 | 0.60| 1:59.98( R 51 5
13(EA ¥ |EEAEX X3 | 0.53 54.66|  FuM 6 13[KE %R |RFEEAKX K2 | 0.69| 2:00.04| FB= 91| 3
14334 fFE  PERK X3 | 0.62 54.78| PBd= |12| 6 14(BR 218  |UDIRIEKXR | K3 | 0.66| 2:00.16| FBdF 5| 4
15|88 7=t FRRK K3 | 0.63 54.85( B (12| 7 15(E@ &t IS 7N K3 | 0.65| 2:00.27| M= 8| 8
15|MHE g |w\EX X2 | 0.57 54.85| JuM 7 16|F/ BEE |(EEABX K1 | 0.52f 2:00.42 SuMl 31 7
17|88 218 |UhImiEX | A3 | 0.61 54.95| B9A 4 17(ME JeiE  |fBEK K2 | 0.56( 2:00.60( JFuMl 311
18|/\VMEE—BR  |RIREFKREFE K3 | 0.58 54.98| M@ 3 18|EH 1EF |EERH#HEX K3 | 0.58( 2:00.63 SuM 315
19(Al F— AR X1 | 0.61 55.03| B (12| 4 19[RAREER | KRB ARF | K3 | 0.60| 2:00.67| FBdFA 41 3
20| BB |BRERK X3 | 0.62 55.16| PBd= |12| 8 20| EE BRk  |[HRIIX X3 | 0.67| 2:00.78| PBd=® 91| 4
21O = fEmA X3 | 0.59 55.33|  JuMl 5| 4 21K 5 KIERF K2 | 0.67| 2:00.95| FdFE 41 5
22| 8 HLIZFBER K2 | 0.66 55.46| M= |11 1 2200 = fafA K3 | 0.64| 2:01.03| FuM 3| 8
22| SEHREX  [EEKF X3 | 0.56 55.46| B9A 7| 2 23|%f R LEN=PN K1 | 0.61| 2:01.13| FB= 8| 2
24|75 X |HUIRK X1 | 0.61 55.47| PB4= |11| 3 24|FH #EF  |BEAREX K1 | 0.56( 2:01.29 FuM 3| 4
25|lUA &S [REFEK X1 | 0.63 55.75| Bd® |[13| 4 25|FmE 1 V=P K2 | 0.56| 2:01.46( PB= 71 1
26| 8 P& BFEAT X1 | 0.61 55.84| BA 5 26|lUA A [ZEKX X3 | 0.62| 2:01.63| Bd=E 5| 4
27|1=1k —E  |B@EFERAXFE | X2| 0.58 55.93| B9A 7 27|#AY #EiB | JUNHIZK A3 | 0.55[ 2:01.87 JFuMl 31 2
271@)ll = blin— yAN= 4 X1 | 0.57 55.93| BA 4 28|&a0 £ [EdfizNca K1 | 0.62| 2:02.07| P 5 3
29|AFEEZT  [BAK X1 | 0.62 56.02| Bd= |13| 1 29|l 2 blin- e A1 | 0.59| 2:02.11| FdF 41 8
30|=8F N |EEFEK X2 | 071 56.03| PBd= |10| 6 305k JEE |BAK X2 | 0.67| 2:02.28| PBd=® 6| 7
31|FIH %% |BEAKEAX X1 | 0.56 56.05|  FuM 5 3 31|l BB |[fEREK K2 | 0.62| 2:02.33| SuMl 3| 3
32|HIAR R BRK X3 | 0.60 56.06| PBd= |10 5 32|E BRSO ([ERIIK X1| 0.64| 2:03.00| Bd= 6| 5
33|44 BB | JUNHIZK X3 | 0.58 56.07|  FuM 8 33|k BB |RmK K3 | 0.66| 2:03.17| BE= 6| 6
34|38 Bt [fEEXK X1 | 0.59 56.22| JuM 1 3424 fFE [EBRK X3 | 0.68| 2:03.18| Bd=E 9| 6
35|38 % BHAX K3 | 0.69 56.43| PBd® (11| 8 35|04 B |ZanEERF K1 | 0.57| 2:03.32 FdF@ 41 4
36|=tE  1E HRK X1 | 0.61 56.52| PBd= |12 2 36|HIE fIE | KBREEBEKXRZF | K1 | 0.61| 2:03.66| K 41 6
37|Ri = ABBARIZEKXN | K1| 0.53 56.64|  FuM 51 9 37|@R 2 LEIEYEPEoN K1 | 0.66| 2:03.73| BE= 8| 1
38|k &iT | RBRABKXRZFE | K2| 0.58 56.70| BEm 7| 4 38|BA MiF | KBREEKRZF | K2 | 0.56| 2:03.96| KA 5| 6
39|18l BEE |EBEAKEAX K1 | 0.52 56.72|  FuM 5| 10 39|MH fRA |EEKFE K1 | 0.55| 2:04.10( FdF@ 511
40|80 &k [EdfizNca X1 | 0.63 56.75| Bm 7| 7 402l KE | KBRAFBEKRF | K1 | 0.63| 2:04.13| FEFA 5 7
41K 1 BHAX X2 | 0.68 56.76| PBi=® |13| 6 4108 KE | ABRMIZAF | K2 | 0.64| 2:04.59| FBFA 5| 8
42| WE  |BEFERAFE | K3 | 0.53 56.77| M@ 7| 6 42(8E =t K X3 | 0.74| 2:04.60 PB=® 8| 4
42|BAK BT |PRERK X1 0.74 56.77| HEB 5| 4 43|18 B SR K1 | 0.64| 2:04.90( FB= 7| 4
44|9FH BIK  |UhcrkigEX | K2 | 0.58 56.78| M@ 8| 8 442 X EETaw e K1 | 0.61| 2:05.02 FF 5 2
45| RARER | KBRBBEKRF | K3 | 0.57 56.81| B9A 8| 1 45|=A & BiRERNA A3 | 0.68| 2:05.09| FB= 6| 3
4510 BE FUNHITK X2 | 0.51 56.81| JuM 41 6 46|ER &S |[RIEFRK K1 | ----- 2:05.67| JtEB 2| 4
47|BR LEIEYEPEoN X1 | 0.60 56.95| BI=® 9| 6 47 |)lim BX BAX K1 | 0.66| 2:05.86| FB= 6| 2
48|&F EA LN X1 | 0.55 57.06| PB4 (10| 2 48| AT K [EEK X1] 0.61| 2:05.99| Bd=® 8| 7
48|BA T | KBREEKRF | K2 | 0.58 57.06| PB9A 7| 3 49|15 FHE | RIBRF K1 | 0.53| 2:06.23| FEdF 41 7
50|l AIE |B5EIK K2 | 0.60 57.17| PB8=® 9] 1 50(KTF )& |EEFBRAFE | K1 | 0.66| 2:06.35| FF 31 3
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rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§
1B —F |2FfEX X3 | 0.76 58.57| PBd® [19| 4 1B —F |2FfEX A3 | 0.73| 2:04.24| HE= [14]| 4
2[R =t BAGER K3 | 0.69 59.40| PBd= |19| 5 2| EFERAEE  |BREFX A3| 0.72| 2:08.14| PBd=® (14| 1
3|RF I K K3 | ----- 59.74| HEB 91| 4 3|RF I K K3 | ----- 2:08.17| B 41 2
4[EH K& |[EXF K1 | 0.71| 1:00.06( H@EfE [12]| 6 4R BE BB X3 | 0.66 2:08.53| PBd= (13| 1
5| EMRAER  [BRFX A3 | 0.73| 1:00.12f M= [19]| 2 5|KR &th BHAGEXR K3 | 0.70| 2:08.76| M= [14]| 2
6| KT BE BAKX A3| 0.70( 1:00.18| PBd= (19| 6 6|FiE R FURK X2| 0.69( 2:08.79| PBd= (14| 8
7|%H HBE | KRIRABARF | K1 | 0.68| 1:00.25| Bf |12 2 7|8A KiE FRRK K1 | 0.69| 2:09.05| M= [14]| 6
8|/MLE—HBB |KRBREEKXRZ | K3 | 0.62| 1:00.46 PBFE [12]| 5 8METL #hEk  |MMEEEX X2| 0.71| 2:09.07| PBd= (13| 6
9|#pA {_th BEHLARF K3 | 0.60| 1:00.48 FHEFE (12| 7 9|SH RE |FMHAKX K1 | 0.68| 2:09.23| H®E (14| 3
10|&xH KiE FRSRK X1]| 0.75 1:00.56| PBd= (19| 7 10[%H #HE | KRHEEKRF | K1 | 0.70| 2:09.97| FE&FA 8| 5
11|kE & LEN=PN A1| 0.68( 1:00.65| PBd= (18| 2 11| KF BA  |[EE#EEX A3 | 0.80| 2:10.02| M= (14| 7
12|48 1B KRIBRZ K3 | 0.63| 1:00.69| M [12]| 4 12[k8B &R BiaX X1]| 0.71f 2:10.37| PBd= [13]| 3
13[1EAR = BEHLARF A3 | 0.70| 1:00.72| Ff [12]| 8 13[3tH #Ath BFEX A1]| 0.76( 2:10.65| PRI [13| 2
14|40F  #* NERER X1]| 0.73| 1:00.79| PBd= |[18| 8 14(#6AK {Zth BEAKRZE K3 | 0.61| 2:10.97| M 3
15(EHE RE FUNHESTK K2 | 0.65[ 1:01.02 JFuM 8| 7 15[/NUE—BF | KBREEARF | A3 | 0.65| 2:11.14| FBFA 2
16(A8 EETaw e K3 | 0.62| 1:01.04| @A (12| 3 16(KH FIiE BHAKEX X1] 0.72 2:11.25| Bd= [12| 6
17T 3k |EEEEX K2 0.72| 1:01.07| FB®= [18]| 6 17008 * FEAKRE K3 | 0.74| 2:11.35( FdF 6
18(1£8F BETF | KPRFEKRF | K3 | 0.64| 1:01.13| PBdFE |11| 3 18|@H K& |I#KF K1 | 0.67| 2:11.56 B 7
19| K% BA  |EE#EEX A3 | 0.81| 1:01.15( FE®E (18| 7 19|+ BE V=PAN K2 | 0.74| 2:11.90( BE= [13]| 8
20|FL BE FRsRK X2| 0.71| 1:01.16| PBd= (18| 5 20|51 EEF | EREREERIK A3 | 0.68( 2:11.95| PBd= [10| 2
21/\& . |HIKK X2 0.72| 1:01.33| BE®= [17| 8 21|ER RKE [ITESSL 7N X2| 0.78| 2:12.12f HE®E [12]| 5
22| RERA—BR  |ELEEX X2 | 0.74| 1:01.56| PBd= [16] 2 22|UhE NER &R X1| 0.74( 2:12.13| Bd= [12| 3
23| R BHAGEX K2| 0.76| 1:01.62| B®E [16]| 5 22 |\E A EERAEX A3 | 0.66| 2:12.13| SuMl 41 5
24 |BE FEERHEXR K3 | 0.67| 1:01.68( JFuM 8| 6 24|¥EH R BHAGER X2| 0.78( 2:12.16| PBd= |[11] 2
24 |pIEp € BAX X2 0.72| 1:01.68| HB®E [17| 6 25|FmE BiE (#R)IIK K1 | 0.74| 2:12.21| HE®E [12]| 4
26| R&JIMIE |[UbcpkigX | K1 | 0.60| 1:01.87( PBd& |[10| 7 26 |PaEl 59 BAKX X2 | 0.73| 2:12.25| Bd= (11| 4
27 AR HE E+EEX X2| 0.67| 1:01.88) M= [16]| 7 27|@¥ BEX |REAREX K3 | 0.64| 2:12.32| SuMl 41 4
27| AAT A BAGKER A3| 0.72| 1:01.88| PBd= (16| 4 28|HIE B |EEAEKX K2 | 0.66( 2:12.34 SuMl 41 2
29| B¢ EEXRER  [FFERK R2 | ----- 1:01.95( =&B 91| 2 29|@ KiE FRRK A1 | ----- 2:12.50| Ep 41 5
30|44 R | REEKF K2 | 0.62| 1:02.06| @Efm [11| 7 30|28 #iF ELEEX A3 | 0.69( 2:12.52| PBd= (10| 6
31|F@ &/ |[|BEX A1 | 0.77| 1:02.11| BE®E [15| 3 30|14 18 KERF K3 | 0.64| 2:12.52 FEiF 8| 4
32|RiE Al B A1 | 0.59| 1:02.12 6| 4 32| B EEEXRER  |FRK K2 | ----- 2:12.58| B 41 3
33| K& % BFEFRAY | K1 | 0.64| 1:02.14| B&E (12| 1 33| ILEEARER | ARBRABARZF | K2 | 0.65| 2:12.82| EA 8| 1
34|81 B |MR)IIK X2| 0.72| 1:02.16| PBd= (17| 5 34|HK TR [ERAF K1 | 0.68| 2:13.34| B 6| 4
35K BEX  |REAREX A3 | 0.63| 1:02.21| JFuMl 8| 4 35|lUE #FHRE |RAEFXRF | K1| 0.77] 2:13.37( Hm 2| 4
36| F@ B MK X1]| 0.70( 1:02.24| PBd= (17| 3 36|=H BRA |[IBEXEX X1] 0.72f 2:13.38| Bd= (11| 6
37|18 B BHAX A1 | 0.73| 1:02.29| HE= [19]| 8 37|%m AKX [ITESSL 7N A1] 0.72f 2:13.60| B3 |[11| 1
37|l #FE |[TRAFFEAE | K1| 0.78] 1:02.29| 6| 5 38|#8t BX FRsRK X3| 0.77 2:13.75| PBd= [12| 8
37|FEHABR AKX A3 | 0.79] 1:02.29( FB= |19 1 39|Eiz KB [#HRIIK X2| 0.76( 2:13.88| PBd= [12| 2
40|RElF A1 EhEawa K2 | 0.76| 1:02.37| @& [11]| 6 40(MNEE 3hz BAX X2| 0.72| 2:14.23| B= |[11]| 5
41|=1f —H BEFRRAY | K2 | 0.64| 1:02.44| BF 6| 3 41| BOE/T | KBRIBBARF | K3 | 0.70| 2:14.25| FB&A 51 5
42U RER | KBRABRF | K2 | 0.71| 1:02.47| & |11 8 42|% BFE EEEXR R3[| - 2:14.36| JtEB 5
42|=H BRA |IBEXREX A1 | 0.73| 1:02.47| BE= [15| 5 43| $RiE | JUNHIZK A1 | 0.73| 2:14.43| SuMl 8
44|14 121 HERK R3[| - 1:02.49( 8B 91 3 44| AAY FAE BAGER A3 | 0.75 2:14.52| PBd= [10| 5
4A5|ER LK BAFEARF A1 | 0.61| 1:02.51 B/ |11 1 45N\ FT  |FIKK X2 | 0.69| 2:14.63| BE= 91| 4
46 BA JHKX SERK A3 | 0.72| 1:02.56| PBd= (17| 4 46/ MIFE  |FERK X3 | 0.80( 2:14.64| PBd= |[10| 3
47|REABA  |EEFRAF | K2 | 0.61| 1:02.57| B&E |11| 2 471 KR RBFEKX R2 | ----- 2:14.97| B 3| 4
48| It | KBRAZE K2 | 0.63| 1:02.59| @& [11| 5 48|12t IR | REERF K2 | 0.62| 2:15.07| B 6| 5
49|F]E K& AR K3 | 0.74| 1:02.63| M= [18]| 4 49| HE HIE blin- v e K1 | 0.63| 2:15.13| FEdF 8| 8
S50%OME/N | KRBRABXRZF | K3 | 0.64| 1:02.68| KA 91 3 S50|1RA It | KBRKZE K2 | 0.65| 2:15.25( FEf 7| 5
50|itH &t BFEX K1 | 0.74| 1:02.68| B®E [15| 6
50Kt RE ELEEX A3| 0.69| 1:02.68| PBd=E (15| 4
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rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§

1|&=T &k BAX X4 | 0.70 52.09| PBIE |[16| 4 1[FH HR HAGEX K2 | 0.74| 1:53.76| BE= 9| 6
2(MH BE  |FFEKX X3 | 0.76 52.44| B= |16| 2 2|tk BEA  |RREEX X4 0.70( 1:54.81| Bd=® 91| 4
3|EHEREEZT  |IBREX K3 | 0.72 52.66| PBd® (16| 5 3B = FURK X4 | 0.70| 1:54.92 BE= 7| 6
4|3 BE FRK R3[| ----- 52.81| B 7| 4 4|HF 1B RRA K3 | ----- 1:56.89| &P 41 4
5| Ktk &RE  |THIKRK X1| 0.74 52.90( Mg (16| 3 54800 ¥k LA X2 | 0.71| 1:57.15( M 2| 4
5|8 BA  [EHXF X3 | 0.63 52.90| @A 91 4 6|1a B HERK K1 | ----- 1:57.52 8B 41 1
USRS HAGEXR X2 | 071 52.92| B=® |16| 8 7|R%E F blin- v e X2 | 0.60| 1:57.78( FEdF@ 6| 4
8|2ER &t HLIZFER X2 | 071 53.01| PB4® (15| 2 8|HE BfF [HKK X2 | 0.76| 1:57.84| B9=® 9| 8
9|lLE Zth  [FKK X3 | 0.72 53.21| B= |14| 5 9|lLE Zth  [FKK A3 | 0.72| 1:57.92| M= 91| 1
10|HHE & BAGKER K2 | 0.68 53.35| PBd= |15 5 ORIl EKE  [fERXK K2 | 0.66( 1:57.92 FuMl 315
11(RE8 Sk FRRK X3 | 0.69 53.40| Bd= |15 3 1@l # KIRIABARF | X2 | 0.70| 1:58.00( FEdFa 6| 5
12|tfA BR HERK K1 | ----- 53.62| B 711 12(&=H K |PRK K2 | ----- 1:58.09| &B 41 6
13[EIS A= |EHXF X2 | 0.68 53.63| PBA 9| 5 13[A% BX BAX A1 | 0.72| 1:58.25( M= 8| 5
13|1=8 O FIERAK K2 | ----- 53.63| B 7| 6 14| LA $E | KREEKXF | K1 | 0.62| 1:58.30| FBFA 6| 1
15|—F nE BHAX X1 0.70 53.69| Bd=® |16| 6 14[85AK EX RRK A3 | ----- 1:58.30 =&EB 41 2
16(8H MXx |WEEEHE K2 | 1.34 53.72| 3| 4 16(E#H & =N X2| 0.71| 1:58.32| PBd=® 8| 6
17|18k Al LEN=PN K1 | 0.67 53.79| B= |14 2 17188 LA |ILWEFBRX A1 | 0.78] 1:58.39| B= 6| 4
18|fEl & KBRABEKRT | K2 | 0.58 53.83| M@ 91 2 18|HHE &t BAGKER X2 | 0.73| 1:58.54| B9=® 91 3
19|%% T [ERX X3 | 0.70 53.90| PBd= |15| 8 19(&IE W= |EHXF K2 | 0.62| 1:58.56( FEiF 6| 3
19( L% EE | XKEXF K3 | 0.68 53.90| Bm 9| 6 20| L% [&E | REXF K3 | 0.77| 1:58.59 6| 6
21|FRIE BEK K K3 | ----- 53.98| &k 6| 3 21| —8 FRRK A3 | 0.73] 1:59.36| M= 8| 7
22 |%F0% I ERAEX K2 | 0.64 53.99| JuM 51 5 22|H &% HIRK K2 | ----- 1:59.38 &P 41 5
23|%H Rt |[FRRK R2 | ----- 54.00| h&EB 71 5 23|35 R |EBK K2 | 0.66| 1:59.41 FB= 7| 4
23|H &% HERK K2 | ----- 54.00| B 6| 4 24|80 gt |[MREEEK X2 | 0.73| 1:59.54| B9=® 7| 5
251 E A R3[| ----- 54.12| B 71 2 25|mEH B BAFEFRAY | A3 | 0.62| 2:00.00| BEiFE 5 2
26|18 T |RBEEX K1 | ----- 54.14| Ep 6| 1 261K 5B KIBRZ K2 | 0.75| 2:00.16 P 6| 2
27|EA | [EEKF A3 | 0.66 54.15| B9A 8| 7 27|BE BEE BHAX K2 | 0.68| 2:00.17| FB= 8| 4
28|hRER 2 =N X2 | 0.75 54.20| PBd= |16 1 28|& z TSR X3 | 0.74| 2:00.20 Bd=® 8| 8
29|BR FE  [EERK X2 | 0.66 54.27( B |14 1 29| KRB KiE RRK R2 | ----- 2:00.57| B 3| 3
308K EX HERK K3 | ----- 54.33| B 7| 3 30|BER EEA HRK K3 | ----- 2:00.63| B 3| 4
30|RREF PE BAFEARF X1 | 0.65 54.33| BA 4 31|1H#E AIX ITESSL 7N K3 | 0.82| 2:00.64| FB= 8| 2
32|=2E g ELEEX X3 | 0.71 54.40| PBd= |13| 3 32|KE BE BEAX X1]| 0.66| 2:00.94| B=® 91 7
33|1@HE BN |PRK K1 | 0.70 54.48| PBd®R (14| 8 33|fHE BEK K R3[| ---—-- 2:01.17| B 31 2
34|01 fEiF IEBK K2 | 0.67 54.52| PB4= |15| 6 34|F2 g ELEEX X3 | 0.73| 2:01.18| Bd=® 7| 2
34|FE BF |FKK X2 | 0.73 54.52( PR (14| 6 35|1=H D K R2 | ----- 2:01.22| B 311
36|k% H RIER X2 | 0.73 54.60| PBd= |12 5 36|&H B4 RRA K1 | ----- 2:01.24| B 41 3
37EF WA [EEK K3 | 0.72 54.61| PBd=® |15 7 37|=8 X |[REERX X4 | 0.76] 2:01.48| FB= 7| 3
38 Ky |EEEEX X3 | 0.71 54.67| PBA= |13| 4 38|@ll ER KBRHFEARS | K1 | 0.76| 2:01.51| FBdFA 5| 6
39|B I EKE  [fERK K2 | 0.66 54.71|  FuM 5 3 39|fFmE KB [IEK K2 | 0.81| 2:01.63| B= 6| 7
40T BE |RMEX X2 | 0.68 54.75| PB= |12 3 40| KMt Ese | IEEERTF K3 | 0.78] 2:01.69 Fm 6| 8
41|PIED It ([HEEMEEX X2 | 0.72 54.76| B®E [12| 2 4114210 FR | RBFEK K3 | ---—-- 2:01.96| Ep 31 5
42| KN g |BFEFERAE | K1| 0.63 54.80| BA 1 2|50 ME |ELEX X1 0.85 2:02.22| Bd=® 5 3
438l =t |[UhImiEX | K1 | 0.67 54.83| B9A 8 43 BX Rz K3 | 0.63| 2:02.49( FdF 5| 4
44|B X [REFEX K2 | 0.77 54.90| PBd= |15| 1 44 |WHIR B | KBRIAEBEKRF | K3 | 0.71| 2:02.86| FBFA 6| 7
45|=8 E REFEKX X2 | 0.72 54.96| PB= |13| 6 45| AR Bsh  |ELEEX A3 | 0.79] 2:02.91| M= 5| 4
45|y BfR  |BEFERAFE | K3 | 0.62 54.96| BA@ 91 3 46|HE 98 |OHKFE K1 | 0.55| 2:02.92 M 5 3
47| E&R L AIRABAF | K1 | 0.63 54.97| B&A 8| 2 47|1R=F T (BB X6 | 0.69| 2:03.41| FB= 7| 8
48|15 LA [ILEFRK X1 | 0.75 54.98| PBd= |11| 5 48|8l% BX |ZEK X1]| 0.77| 2:03.48| PBd=® 6| 6
493 BEX FEAKRE X3 | 0.69 55.02| PB9A 9| 8 49|FH KM | REXF K2 | 0.63| 2:03.75( FdF 5| 8
50| 07E ELEEX X1| 0.81 55.08| PBd= |13 1 50|94t A |UDhIREEX | K1 | 0.62| 2:03.98| K& 5 7
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1{A #his BHAGEXR K1 | 0.72| 1:58.66| M= [13]| 4 1|[AE B ([EEABEX K2 | 0.66| 4:13.80 SuMl 2| 5
2\ful 8% |RREEX X1] 0.72| 1:58.88| PBd= (10| 5 2|HF KB |FFEKX X1]| 0.75| 4:15.06| B= 6| 8
(B &l AVE='N K2| 0.72| 1:58.94| HE= [13]| 3 3|Em &t ITESSL 7N K3 | 0.78] 4:15.67| BE= 6| 7
4|2H X HLIZFBER A3| 0.71| 1:59.61| PBd= (12| 3 4(lLOEBE  |BAREKEXR X1] 0.70| 4:15.77| B9=® 6| 3
S5|F&WL & |EsKFE X2| 0.68( 1:59.68| PBdF (11| 5 5|FE BiE BAGEXR K2 | 0.70| 4:15.82( M= 6| 6
6|RiE BE HLIZFBER A1]| 0.71f 1:59.92| PBd= (12| 7 6|FREF BXE] =N X3 | 0.72| 4:16.26| PB9=E 6| 2
7|WRAS 1 SHEAKX A1 | 0.72| 2:00.13| FBE®= (10| 3 7|R}HA #EX BAGEXR K2 | 0.64| 4:16.36[ FE= 6| 1
8|EHE & blin— yAN= K1 | 0.66| 2:00.45( @Efm (11| 3 8| BEi& BEAX X2 | 0.74| 4:16.59| B9=® 6| 5
o|7RBF BXE] BFEX A3 | 0.70( 2:00.58| PRI [13| 2 O|FIESARER | ABRABARZE | K2 | 0.68| 4:17.29| A 51 5
10|fREE iBiE BHAKBEX X2 | 0.72 2:00.59| PBd= (13| 7 10(fEE 7% fafA K3 | 0.71| 4:17.37| uMl 2| 4
11X M pEgEXRE A3 | 0.65| 2:00.71| FEfE [11]| 6 1158 % IEERF K1 | 0.68| 4:18.71| FEiF 5| 4
12|ZE—BF  |ELEEX X2 | 0.74( 2:00.81| PBd= (11| 4 12(#&6 ER | RREEX X1]| 0.71| 4:19.21| B9=® 5| 4
13[HR XE  |®=FX A1 | 0.75| 2:00.89( FBd= |12 1 138 @k A A3 | ----- 4:20.08( &Ep 31 5
14(HEE—H |EERHEX K1 | 0.69( 2:01.07| FuM 51 5 1484 BRfE  |PRK K2 | ----- 4:21.03| Ep 3| 4
15(&EH X |=FEX K2| 0.77| 2:01.17| BE= [13]| 5 15( LA 38 | KREEARF | A1 | 0.61| 4:21.19| FB&A 5 7
16|14 2= BEAKRZE K3 | 0.70| 2:01.45( @@ (11| 7 16|fREE R RRA K3 | ----- 4:21.35| Ep 31 3
17 |FFHERMS | FRREAX A3 | 0.71| 2:01.64| FBE= [10| 4 17|k =8 |#RIIK K1 | 0.66| 4:21.50( FB= 5 6
18Rk 13 FURK A3| 0.69( 2:01.83| PBd= (11| 6 18|l #hiE BHAGER X1]| 0.71| 4:21.58| B9=® 6| 4
19| R&AINRIE |UhIsigK | A1 | 0.63| 2:01.87| B |[11] 1 19(HAR 18E  EHEXF K1 | 0.71| 4:22.09| FEdF 5 3
20|lLOtiBE  |BAKEXR X1]| 0.70( 2:01.90| PBd= (12| 4 20 |FFHMRES  |FHEHEK X3 | 0.73| 4:22.13| B9=® 41 3
21|88 B FRRK A3 | 0.77| 2:02.20f BE=E [12]| 5 21|EH o RBFEX R3[| ---—-- 4:22.51| =& 311
22|8t =g |[ELEX X1] 0.73| 2:02.28| Bd=® 91 2 22| it |ARIEEEX X1| 0.69| 4:22.61| Bd=® 51 5
23|XH X BAGEXR K2 | 0.65| 2:02.34| M= [12]| 2 23| Rel | LURFREK K1 | 0.77| 4:23.26| BE= 5 7
24| Bt |ARIEEEX X1]| 0.70( 2:02.38| PBd= |[11| 2 24|t/ 15 HEFEX K1 | ----- 4:24.01| & 2| 4
25|fhf 15 RBFEX K1 | ----- 2:02.54| B 41 3 25|3R A8 K K1 | ----- 4:24.11| =& 2| 3
26|FERARE | RBRABRZE | X2 | 0.67| 2:02.57| B#&E [11]| 2 26|24 &R | BAHEK K1 | ----- 4:24.67| HED 31 6
27|80 FH EILRF X2 | 0.67| 2:02.69| 51 5 27| ®E |ELXEX K1 | 0.77| 4:25.20f B= 41 5
28|RE BA |EHEKXF K2 | 0.60( 2:02.70( F@m [11]| 4 281K HE BEAKRZE K3 | 0.66| 4:25.31 A 5 2
29|WR BRAk  |MRFEEEA K2 0.72| 2:02.71| HE=E [11]| 3 29| &K [fERK K2 | 0.62| 4:26.02| SuMl 2| 7
30(FEIE X fafA K3 | 0.72| 2:02.76 FuM 5|1 6 30|95 &X HERK K1 | ----- 4:26.75| & 31 2
31|FF Bt [FKK K2 0.71| 2:02.79| HE= [10| 8 31|=H BE BfRF K3 | 0.81| 4:27.35| FdF 41 4
32/ BRR [EEEKEFE K3 | 0.74| 2:02.85| @ [10| 6 32|h0EE shz BAX X2 | 0.72| 4:27.36| PB9=® 41 6
33| K— KERF K1 | 0.77| 2:02.92 FdF 9| 5 33|58 X [ileaX K1 | ----- 4:28.35 Jt&B 2| 4
34|k BT | KBRABXRZF | K2| 0.69| 2:03.30( BFE (10| 4 M{FH B FUMFHIZK K3 | 0.66( 4:28.59 SuMl 2| 3
3518 2k A R3[| ---—-- 2:03.38| h&Ep 5| 4 35|#E 4L EES1IPN K1 | 0.75| 4:28.67| BE= 41 4
36|fA =t FRsRK X2 | 0.80( 2:03.41| PBd= (13| 6 36|iEn ®H BBK X2 | 0.83| 4:29.16 PB=® 5 2
37| k% = (E#RIX K1 | 0.65| 2:03.51| FB= 91| 4 37|94 Kis | BIFERK K2 | 0.75| 4:29.75| B= 5 3
38| ER SERK X3 | 0.66 2:03.61| PBd= [10| 7 38|FRIL & [EEEKF K2 | 0.71| 4:30.59 M 5|1 6
39|88 RiE  |HmK R2 | ----- 2:03.67| HEB 2 39|RE Kt | REXF K2 | 0.64| 4:31.83| Fdr 41 5
40(feK BEE%  |MLK K2 | ----- 2:03.93| B 6 40 (A BE HREEHERA X1| 0.74| 4:31.86| PBd=® 41 2
41|KE BF V=P K1 | 0.67| 2:03.94| FB= [13| 1 41(IE 1# 5355/ N R2 | ----- 4:32.05 B 2| 2
42|Hrg Kig  [BILFRK X2| 0.73| 2:03.96| PBd= [11| 8 42| B | KBRIAEAKRF | K3 | 0.61| 4:32.34| FEFA 511
43| ALRHEEE—  |MELFBEKRF | K3 | 0.64| 2:04.07| BE#&E |10 1 43|k FER EofiTpaNe K3 | 0.66| 4:32.39| FEdF 41 3
43|=iR —B  |BFEFRAF | K2 | 0.71| 2:04.07| & |10| 5 44|18 F EtEX X1| 0.77| 4:32.48| PB9=® 31 7
45|BAK Kifg LA K1 | 0.68| 2:04.16( 5| 3 45| 1% #E EEX K2 | 0.81| 4:33.01| M= 41 7
46| TH BBt [EBRX X1]| 0.69( 2:04.30| PBd= (10| 1 46(ILF FmL  |TZEpBEARTF K2 | 0.67| 4:36.85| Fr 41 6
46|hNAE 18 LEIEYEPEoN K2 | 0.75| 2:04.30| M= [12]| 6 47|10 B [EEEEX K2 | 0.64| 4:37.07| BE= 5| 8
48|HEIEARS  [#RIEX X2| 0.79( 2:04.31| PBd= (11| 7 48|BR R |[#HFEKRF K3 | 0.69| 4:37.44 M 41 1
49|FRHPHEKRER  [UDTEIEKX | K2 | 0.63| 2:04.34| BI&E |10| 8 49| ILARERES  |HFEAF K3 | 0.75| 4:37.46 FEdF 3| 4
50|fEF SEAE IS 7N X2 | 0.77| 2:04.47| PBd= [10| 6 50|5FH 5AMI BAFEFFERT | K2 | 0.64| 4:37.65| K& 5| 8
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FEEES 2017FE FFHEKERBR 50¥>9 (TOP50)
ZF 50m B ZF 100m BHRE
rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& FriE&in | | RT J-)L | R&3-K | #8 | KE§

1{ED & |#RIIK X1 0.78 25.78| MR |16| 2 1[RAR BE AR K2 | 0.77 55.25| PR [12| 4
2|EEHETE | BRFX X3 | 0.70 25.87| B= [15]| 5 2(1BH = blin—yAN= 4 K3 | 0.66 55.48| Mm@ 8| 3
3[ELOM BREFEX X2 | 0.69 26.00 PB9=® |16| 4 3|4EE RE BAGEXR X2 | 0.65 55.49( PBg®m |12 1
4|58 ER (JEREX K3 | 0.72 26.07| PBd= |14| 1 4|80 Fx  [EHEXF K3 | 0.72 55.78| M@ 8| 5
5|BH £% RRK A3 | ----- 26.11| hEp 6| 3 5|R&I & HAGEXR K3 | 0.74 55.89| B (12| 6
6|tk BEE IIFFBER X2 | 0.73 26.15| PBd= [14| 8 6|17 &F |RE)IIZFK| X3| 0.68 55.99| @A 8| 4
UL BRI ERERX X1 0.72 26.21| B3 [16] 8 7| EEELEF |RMEX X3 | 0.75 56.14( B (12| 2
8|kBFIEF |EFHLKRFE K3 | 0.66 26.25| HEA 91| 4 8| iEAHETE  |BFK X3 | 0.74 56.28( PB4 (10| 3
otEm = IEERF A3 | 0.64 26.26| [HEf 91| 3 9|BER IR |UHK X2 | 0.79 56.31| PBd® [12| 5
10|HE =&\ |[EEX K3 | 0.65 26.27| UMl 5 10(BR BA |EEAEX X3 | 0.68 56.44| JuM 51 5
11(Re8 KB |EBKX X1 0.73 26.28| B= [16] 3 11{ED & |#RIIK X1| 0.83 56.53| PBd® (10| 6
12|7&R /& BAGKER X2 | 0.72 26.31| B= (15| 4 12[3%3H #=E HLZFFER X3 | 0.80 56.58( PB4 (12| 7
13[4x i EHAF X2 | 0.60 26.35| BA 8| 3 13|f&R == BAGEXR X2 | 0.74 56.86| BI= 91| 4
14|fREE HLIZFFER X1 | 0.77 26.38| PBd= [15] 1 14|M%F E=18  |HFURK X3 | 0.76 57.05( PB4 (12| 3
15|, =8 fEmA X1 | 0.68 26.40| JuMl 4 154 HE  |FHEK X1| 0.81 57.06| PBd® (11| 8
16|ME R | KIREEXRZE | K1 | 0.69 26.43| HEA 8 16|BEENMRT  |[#RIIK X3 | 071 57.09( PB4®E (11| 2
16| AKBEH ([EEABX K3 | 0.64 26.43|  JuMl 6 17|ARTETF |HiEX X2 | 0.73 57.10( @& [11| 7
18(HNl B EtfEX X2 | 0.73 26.47| B= |16] 1 18(REEEFE |HEX K2 | 0.68 57.15( @& |10 1
19&FR &K HZFAKBEKXR | X3 | 0.72 26.49( B9 [16]| 5 18(ReE KB |EEK X1 0.73 57.15| PBdE |[10| 4
20|= FiE HIRK K3 | - 26.53| HEB 6| 4 20| SHERF |BAK X1 | 0.77 57.16| PB=® 8| 7
21|RE Rt | KBRERRKZE | X2 | 0.65 26.56| K 9| 6 21| 5FIEEY | REtEER X3 | 0.73 57.19| B9= 8| 1
22|57 E¥F  |IefEXRF K2 | 0.66 26.62| HEA 7 22|57 E¥F  |IefEXRF K2 | 0.69 57.20| B&@ 8| 7
23|I #s8 | EEX X3 | 0.75 26.70( PBI= [14] 3 23|8HE &b FURK X1 0.71 57.22( B®: |11 1
24|EH BF2  |[EHEKRF X3 | 0.61 26.71| HEA 91 5 24|fFEE BT HLZLFFER X1 | 0.73 57.24| PB8=® 7| 5
25|E &% H&ZF4KBEKXR | X1| 0.82 26.72| B=®E |[15] 6 25| BEE IESCZEIN X2 | 0.77 57.32| B9= 9| 8
26|t SRR |BAFERE X2 | 0.58 26.73| HEA 91 2 25| KHFFRE | BLERK X1 | 0.73 57.32| PB8® 91 5
27|Eg BE | BWFERK X2 | 0.76 26.78| MR |15 7 27|k Bl fErX X1 | 0.67 57.36|  FuMl 5 6
27| B BERA X2 | 0.79 26.78| B= [14| 7 28|EEF X |BEKZE K3 | 0.69 57.47| M@ 8| 6
29|% BARE | REXF K2 | 0.66 26.81| [HEf 1 29|@l FIH RERK A3 | ----- 57.51| B 5 2
30|12 FF |BEX X1 | 0.68 26.92| JuMl 7 30/MVEFEH & |[EXEEX X1| 0.81 57.62| PB4=® 91 7
31|R&EBUNS |ELEEX X2 | 0.77 26.94| B [16] 6 31|FAR 2P |HKK X2 | 0.85 57.67| B® |[11| 4
32|H KRR | REXFE X3 | 071 26.97| HEA 8| 2 31|=k #d  |REIZFAR| X1| 0.69 57.67| M@ 8| 2
33)#H RE | EEX X3 | 0.75 26.98| PB=® |15 8 33|FEE B |RMEX X3 | 0.81 57.70( Bg®: |[11| 3
34|/IMAGRIEE | BANEEX K2 | - 27.01| &b 6| 5 34|11l EHE BAGKER X1 | 0.79 57.71| B4=® 91 3
34|HEF XX HZFAKBEK | X3 | 0.73 27.01| B=® |14| 4 35|BAGEFER | IWEFRA X2 | 0.77 57.74| B=® 711
36| EBEKE  |RREEKX X2 | 0.72 27.11 M= |13]| 5 36|IRE it | KBRERRKZF | X2 | 0.65 57.85| M@ 7| 4
36| MM |RfMAEX X1 0.73 27.11| B= |16| 7 37|#% BARE | REXF X2 | 0.68 57.87| B&A 8| 1
36|3H BA ([BREX X1 | 0.72 27.11) UMl 2| 4 38 |1#EILpSE HERK K1 | ----- 57.89| B 51 5
39| HAEEY | REtEEXR X3 | 0.73 27.12| B=®E [14] 5 39|&=E K K K1 | ----- 57.91| h&EB 5| 4
40|32k HE  |BAFRK K3 | ----- 27.15| HEp 2 40(=) BA EtEX K2 | 0.74 57.94( B4 (10| 7
41|BK ¥ |BEFERAF | K3 | 0.67 27.16| K& 1 41|HR BE LA A3 | 0.69 57.98| M 41 4
41()I1f ¥ | KBRKZE X1| 071 27.16| HEA 8 41|54 R |IAEERE X2 | 0.63 57.98| M@ 8| 8
43RO B | ABREBEKRF | K2 | 0.69 27.18| HA 5 43| RARMER  |IEREKX X2 | 0.81 58.01| PB9= 7| 7
44¥H tiEs |ELEX X3 | 0.73 27.19| B=  [14] 2 43|18 B |[#E=RIIK X3 | 0.77 58.01| PBd= 91 1
45|=/ & |[RItFhX R2 | ----- 27.23| 3B 4 AS|EAR % |[fERIIIK X2 | 0.78 58.02( PBg®: (11| 5
46|mIF E UDIREKR | K3 | 0.65 27.27| HEA 7 46 A FfE  |EEK X1| 0.86 58.03| PBd= 91 2
46|l @HxE  [{HEAF A3 | 0.63 27.27| E# 6 47| BR BLFBREX X2 | 0.74 58.04| PB9= 7| 4
48|15k = KBRABERE | K2 | 0.68 27.29| HEA 7 48|y E UDIRIEKR | K3 | 0.66 58.07| BEm 7| 3
49| FEERE  |[RREFHK | K1| 0.65 27.33| B= [12] 5 49|ER =i | RIEARF K3 | 0.68 58.11| PB9A 71 5
49|@A E | KBREFRAF | K1 | 0.64 27.33| HEA 7| 5 50(#E BEH | ARAEBEAFE | X1| 0.71 58.15| B8 71 2
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FEEES 2017FE Z2FEKERE\ESE 50F29 (TOP50)
ITF 200m BHHE ¥ 400m HEM
rank K FhlE@&fn | F#s| RT J-) | K&D-R| #8 | KE&| [rank K FhlE&fn | F#s| RT T | K&D-R| 48 | K
1| R & BAGKE X X3 | 0.74| 1:58.41| PBH=R 8| 5 1|E& HE SRR X2 | 0.75| 4:12.07| PBd=E 51 3
20Em = |EEAE X3 | 0.65| 1:58.84| EF | 5| 4 20 E | KRMEAZ | X2 | 0.76] 4:13.15| BIEm [ 3| 5
3[F& e SRR A2 | 0.75| 1:59.06| PBd=E 8| 6 3|FA HE=E HR)IK A3 | 0.80| 4:13.16| PBdE 51 6
Al @ |mSIK X2 | 0.77| 2:00.00] m@= |7]| 4 i = |ERaEA | k2| 0.78] 4:15.13] A [ 2| 6
S5|EAR B BIFEX A3 | 0.75| 2:00.33| PBd=E 8| 4 S5[EAR = SR K1| 0.78| 4:15.62| PBd= 5] 1
6|AFE EmHm BEAEX K3 | 0.66| 2:00.69( JuM 2| 6 6|E&H& XA BAGFE X K1| 0.71| 4:15.69| PBIE 51 5
77 &R RE)IZZFXK | K3 | 0.69| 2:00.72| & 51 5 7| MAEIEF  [[AEAF AR3| 0.77| 4:17.07| PBdF 3| 6
8% M= |LEFRA | A3| 0.78] 2:0096| BIE |6 4 8|IE BR |LEFRA | A3| 0.86] 4:17.38] BIEmE |4 2
opNEE EafE  [ILES¥BRA | A2 | 0.78] 2:01.18) BIEmE | 5| 4 9|ZiE == |BAEEA | A4| 075 4:17.84| BIE | 5| 7
10065 = |AMG#BEAZ | A2| 0.69| 2:01.24| BE |4 s 0B = [k X2 | 0.85| 4:18.17| ®a= |5 8
11[{FAR 2 EiiN N X2 | 0.84| 2:01.32| PBd= 8| 8 11| KEReEF AR K1 | 0.71| 4:19.25| B 4| 4
12\%l BfE |AxG4BEA | A1 0.75| 2:01.50| B8 |8 | 7 1201 B |EEHEA | A2| 0.81] 4:19.39] M | 2] 4
138 FEE SRR AX1| 0.83| 2:01.52| PBd= 6| 1 13|ILE F&R%& IESES 7N K2 | 0.77| 4:19.82| PBd= 5| 4
14252 *7 |AmiA® | A2| 0.66| 2:01.84| BT |[5| 6 14801 @R [PEA K1 | e 4:19.98| s | 1| 3
15| KEFeEF AR X1 | 0.77| 2:01.93| PBE=R 6| 2 15(fRE 8= BABEKX K| ----- 4:21.03| hEp 1| 4
16|BM FH  [mEslK X2 | 077| 2:02.23| M@= | 7] 6 16|GH T8 |Asitx® | A1 0.76] 4:21.09] BT |2 s
17|/l Eis r:EI N X2 | 0.80( 2:02.27| PBH=R 5|1 2 17| &80 B% N K3 | 0.74| 4:21.48| PBE=R 5|1 2
18|FEEMET  |[MEsllk X3 | 0.72| 2:02.28] m= | 7] 8 18|FT B&E |AMG4BEAZ | A2 0.73| 4:22.02| ®wE |[3| 7
19(8M &b |#UEA X1| 0.75| 2:02.36| RA= | 6| 8 19|/%F =2 |REAY x2 | 071 4:22.27| ma@m | 3] 2
20|l == |BABEA | A3 0.77| 2:02.48) MxE |6 3 20|hEHIRE  |TEX X2 | 0.74| 4:22.34| M@= | 4| s
21|EM B |k K1 | - 2:02.49| REF | 2| 2 21 ILBERT |EEA K1| 0.74| 4:2263| m= |4]| 6
228l B HR)IIK AR3| 0.77| 2:02.52| PBIE 71 2 22| )IXFET T |[fEREZEREA | K1 | 0.73| 4:22.94|  FuM 2|1 5
23i=ILUND BFEK K2 | 0.69| 2:02.56| PBd=E 6| 5 23| B Bt BEABX K2 | 0.72| 4:23.16| M 21 7
24K wE  |FEA x2| 0.71| 2:02.69| R= | 7| 5 24|HE R |FIEAF K1| 0.84| 4:23.70| ma7wm | 3] 8
25188 FkE  |AAGEA | A2 | 0.68) 2:02.75| MEm [s8| 2 25|=M zk |ALFHEKX | A3 | 0.80| 4:2461| mMmE 4| 7
26|/\8FE 2 |ELEEA X1| 0.87| 2:02.80] m= |s5]| 3 26| EBEZE | FEAZ K1| 0.73| 42400 @@ | 2] 6
26|FHE BE |PWEA x3| 0.83| 2:02.80| R= | 8| 3 27|@h B |FIEAR K1| 0.70| 4:24.04| maw | 2| 4
28|BAEAIE | LESRA | 2| 0.83] 2:02.87| MmE |4 s 28|15 Cx |BRWEA X2 | 0.77| 4:25.07| m@= | 3] 4
29|HL EFE FRK K3 | ----- 2:03.07| &6 2| 4 29|dtH & EEKF X2 | 0.65| 4:25.90( PR 3| 4
30|5% BE |ELEmA X2 | 0.73| 2:03.56| M= |4]| 3 30|%E #EZ  |HEIEA K1| 0.70| 4:26.14| m@= | 4| 3
31|48 K= E9E N X2 | 0.78| 2:03.58| PBd= 71 1 31|l SEREEX K2 | 0.77| 4:26.18| PBd=E 4( 1
32|@FE =2 |AuTHEL | A3 0.75) 2:03.65| ME |s5]| 5 R|RFE T |EBREA K1 | e 4:27.85| hEp | 1| 2
33|/ BRE KIRABARZE | K2 | 0.76| 2:03.68| 4| 2 33| FEF KE AIREFRAZE | K1 | 0.70| 4:28.42| B 21 3
34(ILA FRE  |LE=RA | A2 | 0.76) 2:03.74| M= |6 6 34|ETH = [EE K1| 0.76| 4:30.03| m= | 3] s
35|EEF £ |BIEAY A3 | 0.68| 2:03.88| mF\ |5| 3 35|BL & |BIEA x3| 0.67| 4:30.12| mA@ | 3| 1
36|% =HT  |usmEA® | A2 0.69] 2:03.908) M@ |4]| 4 36|54 =5 |ELEmA X3 | 0.77| 4:31.02| M= | 3] 3
37| MARIEF  |IEHKF A3 | 0.68| 2:04.03| PBdF 5|1 2 37| EARNE  |ELEKX AX1| 0.77| 4:31.87| PBd= 3| 6
38|mEF £ | FIEAE X2 | 0.71| 2:04.15| ®#@ | 5| 8 38|1RA B | KIRERSAE | A3 0.72] 4:32.22| mM@E |2 2
39| T8 |EmiA% | k1| 0.67| 2:04.22| mm |5 7 39|Zk theE  |ALTFHEKX | A1| 0.83 4:32.26| mm 3| 7
40|mm BE WK X2 | 0.81] 2:04.26| m@= |4]| 2 40| AARED Tk K1| 0.80| 4:33.53| ma= |4 8
41 |1EAME ¥ SR A2 | 0.80| 2:04.35| PBd= 6| 7 41|3E F E+EEX X3 | 0.78| 4:33.75| PBEER 3 8
2|@me B sk K2 | e 2:04.44| chzp | 2| 3 2|ks B |BOKBA | A2| - 4:34.12| mp (1] 1
a3|=+ @l |®RENZFA| K1| 0.66| 2:04.57| EE | 5| 1 43|EmEm k% |MEAY x2 | 0.73| 4:34.36| ma@m | 2| 7
d4lmlpsE BTk K| - 2:04.67| chEp |2 1 44|EM FE  |BOSERA | A3 | - 4:35.47| s [ 1| s
45780 #Ex BIFX X2 | 0.72| 2:05.18| PBd= 71 3 45|tk gk KIRABARZE | K2 | 0.68| 4:36.91| & 31 3
a6|fcE =FE | REAY X3 | 0.70| 2:05.21| mF@ | 4| 1 a6lILBAE  |FX X2 | 0.90| 4:43.26| m@= | 2] s
47| KRAREL |3IEK K1 | 0.77| 2:05.31| PBI&E 5] 1 47 | =80 2 HhRiEAR K2 | 0.85| 4:43.36| PBIE 2| 4
48| FILRES  |FURA X4 | 078 2:0535| mMm |8 1 48|=% Krx |W&EX K3 | ---e- 4:45.02| dtz | 1| 4
494211 FEE TR K1 | 0.75( 2:05.44| PRI 5|1 7 49|7aiE #LHB AIREFRAZE | K1 | 0.83| 4:45.27| EF 2| 1
S0|fFHE mE |BAImEA | AL| - 2:05.61 s 1| 3 50|{EARSRE | AESHbk | A2 | 0.82] 4:46.01] BIE [ 2] 6
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FEEES 2017FE FFHEKERBR 50¥>9 (TOP50)
TF 100m EHikE TF 200m EHikE
rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§

1|7\ =8 BHAGEXR X1 | 0.63 59.22| PB9= 6| 4 1A wER |HRK K3 | 0.63| 2:07.87| BE= 41 5
2BHENE  |ERK K2 | 0.65 59.42| PB® 7| 6 2| BB F FURK A3 | 0.72| 2:09.35| PBd=® 41 4
3| BT FURK X3 | 0.68 59.76| PB9= 7| 2 3|8 BL  |[RE)IZFK | A3 | 0.55 2:09.56| BFE 31 5
4iEE ® =N K2 | 0.58 59.98| PB® 7| 4 4| E2 BHAGER X1 0.63| 2:09.70| Bd=® 41 7
5|7 MR |HIRK A3 | 0.60| 1:00.01| PB= 71 5 S5\ mE |EREABK K3 | 0.68| 2:09.81| JFuMl 2| 5
6|PaER 228 HLIZFBER X1| 0.66| 1:00.24| Bd= 7| 8 6|PaER 228 HLZFER X1]| 0.66| 2:09.93| Bd=® 41 2
7|5H BE |[RFK X2 | 0.67| 1:00.66( FB= 7| 3 71K BT ([#RIK K2 | 0.59| 2:10.08| M= 41 6
8|MEF Bi |HE)ILZFK | K3 | 0.57| 1:01.09| K& 41 4 7|58 ¥E&  |REK X2 | 0.66| 2:10.08| PBd= 41 3
9|ILRIEE |[FRK K1 | 0.64| 1:01.21 &p 3| 3 oIl BEF |EEAREX K2 | 0.56( 2:10.34 SuMl 2| 6
10(lL0 EF  |ERH#HEX K2 | 0.53| 1:01.23| SuM 3| 4 10\ &BR HRK K3 | 0.63| 2:11.68 H&EB 2| 3
11 [ EFURTS SRR A3 | 0.61| 1:01.42( B= 6| 3 1108 I8 ESAE A1 | 0.55| 2:11.89( FdF 3| 4
12185 &L HERK K2 | 0.69| 1:01.45( 5B 31 6 12|40 &Hhia blin— yiN= 4 K2 | 0.59| 2:13.33| HEm 31 3
1378 B [ITESEL 7N A1 | 0.61| 1:01.47( B= 7| 7 13(# REE |HEX K3 | 0.60| 2:14.72| FB=R 3| 8
14|40 &Hhia blin— yAN= K2 | 0.56| 1:01.51| F&F 41 2 14K 5 |[HEEEEX X3 | 0.64| 2:14.78| Bd=® 3| 4
15| KRAREHE  [BRIFX K3 | 0.64| 1:01.66( FB= 6| 6 15080 B¥ |FfEX K2 | 0.68| 2:15.81| FB= 2| 4
16l RE  |EERAEX K3 | 0.63| 1:01.75( SuMl 315 16|3I@ &2 |[REI&ZFK| K3 | 0.63| 2:15.96| KA 31 2
17(EHERF |BERKX A1 | 0.67| 1:02.02 FB= 6| 7 17(H% BR  |BEX K2 | 0.58| 2:16.41 SuMl 2| 4
18|#h2 RINK X2 | 0.68| 1:02.08 PBd= 51 5 18|RARSE  |ELEEX X3 | 0.67| 2:16.47| PB9=® 41 8
19BN B RRK K3 | 0.74| 1:02.09| &EB 31 2 19(IE KEFE | KIRERAF | K2 | 0.59| 2:16.53| B 2| 5
20| BT BAGKER X1 0.58( 1:02.12| Bd=® 711 20| K5 B NERER X3 | 0.66| 2:16.73| PBd=E 31 2
200K BT ([#RIK X2 | 0.57| 1:02.12( FBE= 6| 2 21|1%F B [#RIX K2 | 0.64| 2:17.03| BE= 31 7
22|HE BH =N X2 | 0.62| 1:02.14| Bd=® 6| 5 22|HHTID BEX X3 | 0.64| 2:17.21| Bd=® 311
23|/ FI%E BEHLARF K1 | 0.66| 1:02.20( FdF 41 5 22|15 &M |KE)IIZFKR | K1 | 0.54| 2:17.21| BEA 3|1 6
2440 AlE [ERAFE K1 | 0.58] 1:02.39( FMEm 41 3 24|mEEF Rk |REIILZFKA | A3 | 0.66| 2:17.53| B 2| 4
25|IUA FME  |tREEEXR A3 | 0.62| 1:02.48| FB= 5 3 25| K ¥E RERK K1 | 0.67| 2:17.68| H&EB 2| 4
268 KB [EEAF K3 | 0.59| 1:02.56 P 41 6 268 KB [EEAF K3 | 0.61| 2:17.74| B 311
27| K% B NERERX K3 | 0.67| 1:02.88| FB= 41 6 27|MEXEBE | KRABXRZFE | X1 | 0.57| 2:17.87| KA 3| 8
28|M HEBE  |HEK A3 | 0.59( 1:03.07| Bd=® 41 7 28|7TH B& | AMREFRAZ | K3 | 0.50| 2:18.64| B 2| 6
29|A% BR  [fEEXK X2 | 0.57| 1:03.16 JFuMl 3| 6 29|FER  BE KERF K2 | 0.60| 2:19.40( FdF 31 7
30|%88 Zx  |EEBEEKR X1] 0.68| 1:03.26| Bd=® 41 2 30|11 BT BAGKER X1] 0.62| 2:19.49| Bd=® 41 1
31|RB Bt |MFPXFE K2 | 0.55| 1:03.46( FdF 41 7 31EHA»RH  |RILFEREK R3[| ---—-- 2:19.65| Jt&B 1] 4
32|AR XE |&HK K1 | 0.60| 1:03.52 5B 2| 3 R2|RE FE  |KEX K2 | 0.74| 2:19.96 H&EB 211
33 FWARIE  |ELEX K3 | 0.68| 1:03.59( FB= 41 5 33|RB Bt |MPXF K2 | 0.55| 2:20.16( FF 2| 3
34|85 X7 H&ZFAEK | K3 | 0.62| 1:03.60| PBI® 6| 1 34|UAK KB |&HK K1 | 0.60| 2:20.86 H&EB 1] 3
35|BRIEER  |BEFHEAR | K3 | 0.64| 1:03.92| M= 5| 6 35MEAARHPE | EFEX K3 | 0.68| 2:21.22 HEp 2| 5
36|/l %=fE | KRBRERKZ | K2 | 0.58| 1:03.93| K& 31 3 36|BAREER |BEFHEKR | K3 | 0.64| 2:21.53| HE=E 2| 5
37|80 BE KERF K2 | 0.59| 1:04.01| FdF 41 8 37|1=% k% |[lEX R3[| - 2:21.66| JLEB 1] 5
38|7TH B& | ARREFRAZE | K3 | 0.52| 1:04.13| B&AE 3| 4 38|=BHA4E |RBEEKX K1 | 0.59| 2:21.76( H&B 2| 6
3980 BEF |RMEX K2 | 0.69| 1:04.18| FBE= 41 1 39|FN =E | RABRABAXRZFE | K1 | 0.53] 2:22.71| A 2| 2
39|M%F Rk |HEE)ILZFK | K3 | 0.65| 1:04.18| KA 41 1 40(AH X8 fRILERAE | K1 | 0.71] 2:23.09( 1] 5
41|RI5 FE  [IREX K2 | 0.73| 1:04.35( H&EB 311 41| B FEX K3 | 0.63| 2:24.04| BE= 2| 3
42 %R = |ELEEX X3 | 0.63| 1:04.44| B9=E 41 4 42|8H B BAfEuK K1 | 0.74| 2:24.83| H&B 1] 4
43|PH &L  |RE)IZFK | K3 | 0.63| 1:04.65| B 31 5 43|l BfE  |[fHFEARF K1 | 0.55| 2:26.78| FEdF@ 2| 7
44|lLH  E BEX X1| 0.56| 1:04.67| Bd=® 5| 8 44| EFHEN HREEKX X2 | 0.64| 2:27.07| B9=® 2| 6
A5 RAHETF  |HHIEX K1 | 0.66| 1:04.75( FB= 5| 4 45|K8 XA RREIAK X2 | 0.70| 2:28.27| BE= 2| 2
46|FAK EF | KEXF K2 | 0.60| 1:04.80( Fr 311 46|t BEF  |[BILTARKFE | K1| 0.67| 2:29.11| &M 1] 3
47 BHHRH  |RILFEHRK R3[| - 1:05.10( dt&B 1] 4 47| KTFEXRTF  |BIAEEEMEAR | K1 | 0.62| 2:29.41| ul 201
48|RE EKX |ZEK X3 | 0.64| 1:05.16| Bd= 511 48|ME BF |{EEX K1 | 0.64| 2:29.55| FuMl 219
49|EF B |laxX R2 | ----- 1:05.20( dtEB 1] 5 49|F%0 BE | BERF A1 | 0.61| 2:30.25( = 1] 4
50|&F BN |#R)IK X2 | 0.62| 1:05.37| Bd=® 41 3 50|8R%F RF [XEK X1| 0.64| 2:31.35| PBd=® 2| 8
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ZF 100m FkE ZF 200m FikE
rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§

1[ESEEF |FMRAX A3 | 0.77| 1:06.88| FB= 91| 4 1Al ¥ BAGEXR K3 | 0.77| 2:23.66| M= 6| 4
2| a@A #F BAGKER A3 | 0.75 1:07.19| Bd=® 9| 6 2|BREMEM  |PRK K3 | ----- 2:25.21| HEB 1] 4
3|B8O =i BAGEX A3 | 0.71] 1:07.31| BE= 9| 5 3|B2H BE ITESSL 7N A3 | 0.80| 2:25.50( FB= 6| 6
4|BEMEM  |PRK K3 | ----- 1:07.49 &p 31 3 4[ERE FERAK K2 | ----- 2:26.56| HEB 1] 2
5|7"a BXTh FURK K1 | 0.74| 1:08.04| FBE= 9| 8 5B =ik BAGEX A3 | 0.73] 2:26.57| BE= 6| 5
6|F EBS FURK X2 | 0.75| 1:08.16| PBd=® 91 7 6| FHSESR HERK K1 | ----- 2:26.67| HEB 1] 3
7R AME [EEK A3 | 0.80| 1:08.36[ M= 91| 3 7|MRZERAL  [RFK A1 | 0.71] 2:29.31| BE= 6| 2
8|EE A FIERAK K2 | ----- 1:08.64 H&B 315 8|ATE @H | ARBRABKRZF | K3 | 0.67| 2:29.57| K& 31 3
9|%H BE ITESSL 7N A3 | 0.81] 1:08.94 FE= 91| 2 o|F ES FURK K2 | 0.74| 2:29.64| BE= 6| 8
10[FHERE |PRK K1 | ----- 1:09.01 &B 3| 4 10 IARSHR  [RFX X2 | 0.70( 2:29.65| PBd=® 6| 7
11[ER #xR |\EX K1 | 0.65[ 1:09.33| JFuMl 3| 6 11[ER #xR |\EX K1 | 0.65[ 2:29.85| JFuMl 1] 5
12(8H F |EHEXF K3 | 0.74| 1:09.59 FEm 41 6 12|7FmEE KB |#RIIK X1| 0.74| 2:30.36| PBd=® 6| 3
13|88 FIF IR K1 | ----- 1:09.74| &8 3| 2 13|fER FEAKRE K2 | 0.69| 2:30.48| FdF 3| 4
14| B  [BMRXF K2 | 0.62| 1:09.88 2| 4 14|E@ R [FLFRX X1] 0.75 2:30.52| Bd=® 5|1 6
15| B [MRXF K2 | 0.73| 1:10.30 SuMl 31 5 15(5M F8 |RE/IIZFA | K1 | 0.69| 2:30.82| B 31 5
16[EX BF | KRHEKRF | K2 | 0.69| 1:10.65| FBFA 41 3 16 [[BEPHERTF  |#RIIIK X1] 0.79| 2:30.93| Bd= 5| 4
16|AtR B |#HRIIK K2 | 0.81] 1:10.65| M= 8| 8 17 [{EREDF BHAKX K2 | 0.84| 2:32.03| BE= 5 7
18| BMERT  |[HRIIK X1 0.78| 1:10.66| PBd= 8| 6 18t =73 BERA X3 | 0.82| 2:32.54| B9=® 6| 1
19|fER FEAKRE K2 | 0.67| 1:10.72 FdF@ 41 4 194K B BFEROKEZKX | K2 | 0.75] 2:32.90( BE=R 511
20|HF 2= ELEEX X3| 0.78| 1:10.73| Bd=® 8| 7 20| LA %2 H&ZFAEK | K3 | 0.72| 2:32.95| BE® 41 2
21t =7 BLFBREX A3 | 0.81] 1:10.79| BE= 8| 4 21| HFE | REXF A3 | 0.71| 2:33.19 FF 2| 5
22|=/ 5  |HE)IZFKR | K1 | 0.69| 1:10.80| KA 41 5 22|MHEREE  |BLFHEKR | K2| 0.69| 2:33.40| M= 5 2
23|Al A [EEKF K2 | 0.59| 1:10.88( FdF 41 2 23| AtEBE  |REAREX K2 | 0.71| 2:34.22| SuMl 1] 6
24 |HRMEDF =P N X2 | 0.85( 1:11.10 PBd=® 7| 4 24|aH B [EEKF K2 | 0.58| 2:34.70( M 311
25|MRZERAT  [RFKR A1 | 0.74] 1:11.33| BE= 8| 3 25| ¥ BR  |MEXFE K2 | 0.67| 2:34.78| 1] 4
26|fEBEEITF | FUMHIZK K2 | 0.74| 1:11.36f SuM 31 7 26| REFREF  |RE)IZFA | X2 | 0.68| 2:35.23| BFA 31 2
27|E/ FE | BWFEREX K1 | 0.74| 1:11.62 BE= 711 27|RE =X TS 7N K2 | 0.74| 2:35.39| BE= 41 6
28| LA %2 H&ZFAEK | K3 | 0.75| 1:11.75| B® 7| 2 28| =t =R HZFAEK | K3 | 0.71| 2:35.43| BE= 41 5
29|FmE X ([ER)IIK A1 | 0.77| 1:11.77| BE= 8| 5 29|F8 & RIER K3 | 0.77| 2:35.73| BE= 41 1
30| thHER#EE |BLFHEKR| K2| 0.68| 1:11.81| =R 7| 6 30|AX BEF | KBRABKXRZF | K2| 0.78]| 2:35.79| K& 3| 8
31t A E+EEX A1 | 0.79] 1:11.86 M= 8| 2 31| FHEMKF |BEKFE A1 | 0.73| 2:37.14 FE8F 2| 3
R2|AtEBE  |BEAEX K2| 0.67| 1:11.92f FuMl 3| 4 32|fEE Bk [ZEK X3 | 0.76| 2:37.39| Bd=® 41 3
33|=E Em B FH4EKXR | A3 | 0.70| 1:11.95[ FB=® 7| 8 33|EtEHhE SRR K2 | 0.76] 2:37.90( FB= 5| 8
34|fEH B [ZEK X3| 0.73| 1:12.22| Bd=® 7| 3 34|f BE  |AMKE K1 | 0.70| 2:38.17| FE&F 2| 6
35|F)I M | REXFE K1 | 0.62| 1:12.38 FiF 311 35|RBNIIEE | ARABXRZFE | K3 | 0.66| 2:38.61| A 2| 4
36| FHEMK&F |EEKXF K1 | 0.70| 1:12.99( B 315 36|ILTF BEF |REIZFA| K1| 0.70| 2:38.86| BiFE 1] 4
37|k AVE =N A3 | 0.78] 1:13.24| BE= 6| 1 37|EABEN  |BEEKF K2 | 0.81| 2:39.42 FdF 3| 6
3B|RABNEE | ARABEKXRZF | K3 | 0.72| 1:13.38| K& 31 6 381kH B |REIIZFKA | A3 | 0.68| 2:39.77| B 31 7
39(ILAEDH RiBX K1 | 0.76] 1:13.46( FB= 6| 5 39|F=E KB |[EBHK K3 | 0.73] 2:39.80( B= 3| 4
40|FH HE  |OHEXF A3 | 0.63| 1:13.52 @ 41 1 40|BH & EdfizNca K2 | 0.65| 2:40.39( M 211
41|ILF EF HE)IZFK | K1 | 0.71| 1:13.55 E3ic) 3|1 7 41|FHE FiA UDTRRIZER K3 | 0.81] 2:40.41 ESic) 2] 8
42|l EF | KBREEKAF | K3 | 0.73| 1:13.71| BFA 41 8 25T B BRK X2 | 0.83| 2:41.09| Bd=® 31 3
43|EAEEM |BEEAFE K2 | 0.79| 1:13.74 E3ic) 4| 7 43[Rk BE 237N K2 | 0.75| 2:41.35 £ 5| 3
44|RK BE BBK X2 | 0.74| 1:13.88| PBd=® 8| 1 44| TR | KBREEBEKRF | K3 | 0.74| 2:41.55| FBFA 2| 2
45|@HT =it B FH4EK | K2 | 0.70| 1:13.95[ FBE= 71 5 45|BERENF |REEIK K2 | 0.76] 2:42.28| BE= 3| 6
46| BEiEHHS SERK X2 | 0.76| 1:14.03| Bd=® 7| 7 46|l EF | KBRERKF | K3 | 0.76| 2:42.63| FBFA 2| 7
47| ®E LEEERE | K3 | 0.72| 1:14.12| M 2| 5 47|38 RS B FH4HEKR | K1 | 0.77| 2:42.64| BE= 31 5
48|+ XA VE =" X1] 0.77| 1:14.25| B9=® 6| 4 48|=+t ZTHE |BEKX K2 | ----- 2:42.75| JtEB 1] 4
49|=t FE |BEX R2 | ----- 1:14.30 dt#B 1] 4 49| LLEEOH RiBX K1 | 0.83] 2:43.08| FB= 41 4
50|fER #%E  |&iK K1 | 0.66| 1:14.47 FuMl 319 50|/ML E BRFEEX X1| 0.80( 2:43.65| PBd= 41 8
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TF 100m N9I54

TF 200m N9I54

rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§

1A FE  |HEK X2 | 0.72 58.98| Bi=® 8| 5 1|54 ok BAGEXR A1 | 0.83| 2:08.10f B= 41 7
1185 &L HIRK K2 | ----- 58.98| B 31 3 2|&F BRE [=ENEN=PN X2| 0.70( 2:08.84| PBd=® 41 5
3|5t Tk BAGEX X1 0.83 59.27| PB9= 7| 3 3 A IR K2 | 0.68| 2:09.40( FdFE 31 5
4|0k IR ([BEABX X1 | 0.70 59.36| JuM 2| 5 4 KR ¥ HLZFFER X3 | 0.75| 2:09.94| B9=® 41 3
5BR fE  ERK X3 | 0.81 59.48| BI=® 8| 4 5|HR B% | KIREEAF | A3 | 0.76| 2:10.89| B 3| 6
6|NNE HfE HLZFFER X2 | 0.81 59.70| PBd= 8| 3 6|k BIP  |EEEAREAX K1 | 0.69( 2:11.34 FuMl 1] 6
7|R &R|EREKR X2 | 0.73 59.79| PB9= 7| 4 7|®i B K K1 | ----- 2:11.43| B 1] 2
8| FILRER |HKK X4 | 0.79 59.87| PB4=® 8| 2 8|R&E A EETaw K3 | 0.65| 2:11.81 FEm 3| 4
o|tER HFTh ®E/ZFK | K3 | 0.69] 1:00.15( FEdFE 41 5 o|F1R Hhie [ITESSL 7N A1 | 0.80| 2:12.10f FB= 31 2
10|ZE KF BEAKRZE K2 | 0.65| 1:00.31 FF 41 3 10|2B1R #A ELEEX X2 | 0.74| 2:12.24| B9=® 315
10|1G8% W& |[IEK K2 | 0.80| 1:00.31| PB= 8| 7 11|hR BE EILKRF K3 | 0.64| 2:12.34| M 1] 4
12|&F ER BHAGER X2| 0.70( 1:00.43| Bd=® 6| 4 125 Fizx  |#R/IIK X3 | 0.81| 2:12.66| PBd=® 41 2
13|+ R [(EHAF K2 | 0.64| 1:00.46( FdFE 41 7 13RIl fEE |FERIIK K2 | 0.75| 2:13.49| BE= 41 4
14|F7a RU HERK K3 | ----- 1:00.59 &B 3| 4 14(BE B BHAKEXR X2 | 0.75| 2:13.50 PBd=® 3| 4
158 RE |RFKX X2 | 0.76] 1:00.71| FB= 8| 6 15(8 K% K K3 | ----- 2:13.54| HEB 1] 4
16/5H B |[#HRIIK X2 | 0.77| 1:00.78| PBd=® 7| 5 16(tBH 73 RE)IZFK | K3 | 0.64| 2:13.70| FBdFA 31 2
17[7@K =2 B FH4HEKXR | K2 | 0.74| 1:00.91 BE= 7| 8 17| 5%kmB%  (EEEEX K2 | 0.75| 2:14.00f FB= 41 1
18|t KBIE |ELEX X2 | 0.76| 1:00.92| Bd=® 7| 6 18|/\gF E2 LR K3 | ----- 2:14.39| JtEB 1] 4
19|% BX plin- e K1 | 0.65| 1:00.98( FdF 41 6 OHR &' EES1IPN A1 | 0.75| 2:14.63| BE= 3| 3
20| K&K F¥Th HLZFER X3 | 0.75| 1:01.06| Bd=® 7| 7 20|FE RU RRA K3 | ----- 2:14.73| B 1] 3
21| 2R BfE | REXF K2 | 0.72| 1:01.07| FdF 41 8 21| LEB BaFH#HEKXR | K2 | 0.79| 2:14.81| BE= 2| 3
22|mE ¥E HERK K2 | ----- 1:01.09| &B 3|1 2 22| %M #E;E |REIIZFA | K3 | 0.74| 2:14.99| BFAE 3| 8
23| LEB B FH#HEKXR | K2 | 0.79| 1:01.25( FBE= 6| 6 23|FE B8 REFEX A1 | 0.80| 2:15.02 FB= 31 7
24|LFEREE  |FRK K1 | ----- 1:01.30( 8B 2| 3 24|@me BAE |[EHEKXF K1 | 0.68| 2:15.03| M 31 7
25|%[E #xE  |HKE)IZFAR | K3 | 0.66| 1:01.33| HEA 315 25|% EBx blin- e K1 | 0.61| 2:15.05( FdF@ 3| 3
26| AKIZEH |EEABEKX K3 | 0.65[ 1:01.36 JFuM 2| 6 26/N\& BE  |ZdfERF K3 | 0.62| 2:15.52 311
27|81 Bl [RBX K3 | 0.74| 1:01.52( B= 7| 2 27|FH FE O |RKK K2 | 0.72| 2:15.56| M= 41 6
28| ATE @H | KBRABKRZF | K3 | 0.64| 1:01.65| KA 311 28| AKIZEH |EEABEX K3 | 0.68| 2:16.36 FuM 1] 5
29|EM AR ([HRIK A3 | 0.79] 1:01.77| BE= 6| 3 29k AP |HREEEA A1 | 0.79| 2:16.57| BE= 3| 8
30/ AR HERK K3 | ----- 1:01.89 H&B 2| 6 30(AH Rk |BEIAK X3| 0.71| 2:17.88| PBd=® 2| 5
31|#8H XRI&  |[EFEX K1 | ----- 1:01.93( =B 2| 4 31|RIE i |BWFRA K1 | 0.75| 2:18.58| FB= 2| 4
32|KR&E B EETaw e K3 | 0.68| 1:01.96 R 41 2 32|K HiEF  |REIZFA| A3 | 0.61] 2:18.71| B 2| 5
33|@me BE |EEKF K1 | 0.69| 1:02.04 FdFE 41 1 33|MmE ¥E  |PEK R2 | ----- 2:18.77| &R 1] 5
34| FE HE | BAEEX R3[| ----- 1:02.26( 8B 315 34|)IIAR i |RE)IIZFA | K1| 0.69| 2:19.16| BiFE 2| 6
35\E HFXR | REXFE A3 | 0.71| 1:02.38 FdF@ 2| 3 35|kl B |IEK K1 | 0.70| 2:19.84| FB= 3| 6
354 vk | REBRF K1 | 0.66| 1:02.38( FF 31 7 36|1=R % RIBRZ K1 | 0.61| 2:19.92 B 2| 4
37| HR &’ EES1IPN K1 | 0.75| 1:02.44| BE= 6| 1 37|UA % |BEFERAFE | K3 | 0.66| 2:19.98| A 2| 3
38|RIl kA HRK K3 | ----- 1:02.45( 8B 31 6 38|FF #& AR K1 | ----- 2:20.68| B 1] 1
39| BK #%E |ERF=E X4 | 0.70| 1:02.49( BE= 5 7 39|18F HiTE V=P A3 | 0.79] 2:21.33| BE= 2| 6
40[/NEFFARE | IEEARF K3 | 0.63| 1:02.54 FEm 41 4 40(=H B2 | REXZE K3 | 0.70| 2:21.41 P 2( 1
40| SEHKER  |RMEX K3 | 0.79] 1:02.54| FBE= 8| 1 41|FF0O#EI  |BIAEBEMEAR | K1 | 0.76] 2:21.87| uMl 1] 4
42|l A= HERK K1 | ----- 1:02.56 H&B 311 R|BERTEF [RBX X3 | 0.79| 2:23.16| Bd=E 2| 2
43|faK B BFEROKEZK | K2 | 0.74] 1:02.60( FBE=X 51 6 43| HE KF B FH4HEKXR | K2 | 0.76] 2:23.36| M= 201
447758 REE | KIREEBAFE | K2| 0.71] 1:02.61| KA 31 2 4481 il [ KREBRKZE | K1 | 0.68| 2:24.34| HE&A 2| 7
45|81k 2A E+EEX K2 | 0.80| 1:02.69| FB= 6| 2 45|FF TR |[EaARF K3 | 0.60| 2:24.42 FEdF@ 2| 2
46| EREMARE  |REEEX X2 | 0.75| 1:02.74| B9=® 6| 8 46|8HM =& HZFAEK | K3 | 0.72| 2:25.47| BE=R 2| 7
47\/\& BE  |I6hfEXRF K3 | 0.68| 1:02.77| FdF 2| 5 47 |StERtR |RE)IZFA | K1 | 0.70| 2:25.50| B 2| 8
48|FF & AR K1 | ----- 1:02.82 5B 2| 2 48|EH ¥t |/IIREFEEAS K1 | 0.71| 2:27.55| &M 1] 3
49 [AEIRNMRF | JUMNHIZK K1 | 0.76[ 1:02.99( FuMl 2| 8 49|FIL B |<BULEERRAE K2 | 0.74| 2:28.37| M 1] 5
50 HLE F&E  |[fREX K3 | 0.68| 1:03.08 JFuM 2| 4 50| Rl %% [4RIEK X1| 0.77| 2:29.59| B9=® 1| 4

11 /12 R=2




FEEES 2017FE FFHEKERBR 50¥>9 (TOP50)
TF 200m EAARL— TF 400m EAARL—
rank K& Fhi@&#R | | RT J-)L | R23-K || K| |rank K& Fhi@&#s | | RT J-)L | R&3-K | #8 | KE§
18l FR |EHEXE K3 | 0.68| 2:11.82 FEiF 3| 4 1(1E0 B |EHEAE K3 | 0.64| 4:37.60 FEdFE 2| 4
2|lLH T2 HLIZFER X3 | 0.78| 2:13.26| PBd=E 6| 5 2| AR B K X2| 0.79| 4:42.36| PB9=® 31 6
3NR B3 IS 7N K3 | 0.86| 2:13.85| B= 6| 7 3|FAAMEE  |PRK R2 | ----- 4:42.75 b 2| 2
4B BHAGKER X2| 0.76| 2:13.86| PBd=® 6| 4 4[F)12<5 BHAGER X2| 0.75| 4:44.57| PB9=® 31 3
5|#BERF (HR/IIX X4 | 0.80| 2:14.07| M= 5 3 5| B BHAX K1 | 0.78| 4:45.47| BE= 31 2
6|ftt B =N X1| 0.76| 2:14.22| B9=® 6| 6 6| AR Haie HLIZFBER X1]| 0.79| 4:45.85| PB=® 3| 8
7/MNFFRE |BRFEKR X2 | 0.75| 2:14.43| BE= 6| 3 7B B |[REEEX K3 | 0.88| 4:47.22 BE= 31 7
8|fEIE HEE [EEAKF A3 | 0.65| 2:15.17( B 315 8|HEELE #RIK X3 | 0.74| 4:48.18| PBd=® 311
9|FHIMEE |[FRK R2 | ----- 2:15.41| B 2| 4 8|alll RAx HaZFH4EKXR | K2 | 0.85| 4:48.18| FE= 2| 2
10|77~ XT3 FURK X1 0.71| 2:15.75| PB9=® 5| 4 10(EH B8R R R3[| ----- 4:48.94| Ep 2| 3
11 TAEZH  |FFX K2 | 0.71| 2:15.78 ESESS 6 1 105EK sEEE SN K2 | 0.70| 4:48.94 B 3| 4
12(FR BF | KIREEKRF | K3 | 0.68| 2:16.02| B 311 12| EE FRK K2 | ----- 4:51.22| Ep 2| 4
13(ANl fEE |FERIIK K2 | 0.77| 2:16.64| BE= 6| 2 13(% B BEFEX K1 | 0.78] 4:51.77| BE= 2| 3
14(&)l BAxE HZFAEK | K2 | 0.84| 2:17.56| PB= 5 7 14| XEBFR2F |[RE/IZFK| K2 | 0.66| 4:52.58| MK 2| 3
15|AOZLE HRINK K3 | 0.73| 2:17.76| BE= 5 2 15(58 FM  |REINIZFK | K1 | 0.63| 4:52.74| FB&A 2| 5
16l ¥  |BEEXF K2 | 0.66| 2:18.17( B 31 7 16(#IE BE |EHXF K1 | 0.67| 4:53.06| M 2| 6
17(® RE RAK R2 | ----- 2:18.27| B 2| 3 17|FHEER |HZFHEA | A3 | 0.78| 4:54.97| BIR 2| 4
18(5# FM |RE/IZFK | K1 | 0.63| 2:18.82| FEFA 31 6 18|18 BX (HEKX X2 | 0.82| 4:55.53| PBd=® 2| 7
194680 T|X  |[EEEEX K1 | 0.74| 2:19.45( BE= 51 5 19[/NEF B |ERIEFBK R3[| ---—-- 4:56.66| 1tED 1] 4
20|8IRTREF |HIEXR X2 | 0.71| 2:20.00 PBd=® 6| 8 20|HA 2/ |REIZFA | K2 | 0.69| 4:57.17| BFE 2| 2
21|/ YE A KF A3 | 0.65| 2:20.08 FEiFE 31 2 21|l mRF  |BEEKFE K2 | 0.68| 4:58.15 FEiFE 2| 7
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